FIGURE 10.2 The basic energy model
shows that work and heat are energy
transfers into and out of the system,
while energy transformations occur
within the system.
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Heat and Work

Heat Q flows from a hotter to a cooler body (will
not discuss)

When an external object exerts a force on a
system as it moves, work W is done.

When a system exerts a force on an external
object as it moves, work W is done.

Internal forces occur is pairs (NIll), so no work
IS done by internal forces

Work Is a scalar.

Magnitude depends on orientation of force and
path.



TACTICS
BOX 10.1

Calculating the work done by a constant force

@m

Direction of force Angles and
relative to displacement work done Sign of W Energy transfer
Before: After: f8=0° aF The force is in the direction of motion. The
v, v cosf = 1 block has its greatest positive acceleration. K
— — S increases the most:
- 4 o Maximum energy transfer to system.
P e |-
f = 0°
> e # < 90° aF The component of force parallel to the
iy - W= Fdcostf displacement is less than F. The block has a
«;{ 90° ~1 F smaller positive acceleration. K increases less:
d Decreased energy transfer to system.
S — = 90° 0 There is no component of force in the direc-
- F cosf =0 tion of motion. The block moves at constant
g =90 _ W=0 speed. No change in K:
= No energy transferred.
% — \ —- # = 90° = The component of force parallel to the
F W = Fdcos@ displacement is opposite the motion. The
block slows down, and K decreases:
Decreased energy transfer ouf of system.
- = = 180° = The force is directly opposite the motion. The
8 = 180° cos@ = —1 block has its greatest deceleration. K
_ /\ decreases the most:
F< v =—Fd

Maximum energy transfer out of system.

Exercises 5-6 W4



Displacement




Work with people can be a problem!

Forces that do no work

If the object undergoes no displacement
while the force acts, no work is done.

This can sometimes seem counterintuitive.
The weightlifter struggles mightily to hold
the barbell over his head. But during the
time the barbell remains stationary, he does
no work on it because its displacement is
zero. Why then is it so hard for him to hold
it there? We’ll see in Chapter |1 that it
takes a rapid conversion of his internal
chemical energy to keep his arms extended
under this great load.

d

A force perpendicular to the displace-
ment does no work.

The woman exerts only a vertical force on
the briefcase she’s carrying. This force has
no component in the direction of the dis-
placement, so the briefcase moves at a con-
stant velocity and its kinetic energy
remains constant. Since the energy of the
briefcase doesn’t change, it must be that no
energy is being transferred to it as work.
(This 1s the case where @ = 90° in Tactics
Box 10.1.)

Before: After:

If the part of the object on which the
force acts undergoes no displacement, no
work is done.

Even though the wall pushes on the skater
with a normal force n and she undergoes a
displacement d, the wall does no work on
her, because the point of her body on which
n acts—her hands—undergoes no displace-
ment. This makes sense: How could energy
be transferred as work from an inert, sta-
tionary object? So where does her kinetic
energy come from? This will be the subject
of much of Chapter 1. Can you guess?




Energy Expressions

Vo L \
-5
u=0
Wyt = AEgys
+FL = AE ¢
malL = AE

SYS

From kinematics; mY2(v¢ — V%) = AEg
Yomve — Yamvg? = AE

Define Kinetic Energy: K., = ¥2mv?



Gravitational Potential Energy

________ h, Vi =V, AEsys = Wext
= F(h; — hy)
= mg(h; — ho)
= mgh; — mgh,

So U,., = mgh

grav

Since v =v,, a=0. So
F.et = 0. Thus F =mg



GPE continued

Any path produces the
same change in GPE If
start and end heights
are same since Fis L
over horizontal pieces.

Gravity is said to be a
conservative or path
iIndependent force.



Using Work Energy Methods

Use if interested in changes of height or speed
ldentify the system (often connected by ropes or
springs!)

ldentify objects exerting forces on system

Note gravity force accounted by mgh already.
Internal system forces do no work.

Look at t = 0 and t;,,,;,, how has the energy of
each member of the system changed?



